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HRX 39,501 86,293 41,200 45,093
RIRET1T 6 15 9 6
RIRET2T 27 56 26 30
AIEET3T 180 588 286 302
RIRET4T 415 993 494 499
B 628 1,652 815 837
REH 2,685 6,073 2,831 3,242
L&A 4,302 9,446 4,408 5,038
5E 2,598 5,964 2,892 3,072
B AN 1,238 2,772 1,300 1,472
BERT 1,381 2,011 960 1,051
BER2T 780 1,416 690 726
BHERST 373 800 371 429
g 2,534 4227 2,021 2,206
BARE 277 657 326 331
= 2,201 5,075 2,403 2,672
hERE 639 1,448 667 781
e 2,479 5,207 2,517 2,690
25 L ET 2,298 5,069 2,430 2,639
B &AL BT 77 156 63 93
HEFILET1T 566 1,205 561 644
HEFILET2T 624 1,336 627 709
HEZFILAT3T 637 1,455 719 736
g 1,904 4,152 1,970 2,182
B & it B Fr ET 692 1,610 787 823
BHERERET1T 596 1,233 599 634
HEFRET2T 764 1,724 826 898
HEFMRETST 778 1,628 736 892
HERERET4T 503 972 460 512
HEHFMHETST 836 1,720 817 903
HEHFHET6T 896 1,953 949 1,004
HEFRET7T 860 1,821 905 916
HERERETST 69 212 102 110
£t| 5302 11,263 5,394 5,869
HEF R FET 1,930 4,090 2,010 2,080
S|EFET1T 593 1,543 776 767
S|EFET2T 767 1,755 834 921
S|EFET3 T 760 1,458 670 788
g 2,120 4,756 2,280 2,476
ERE1T 585 1,367 664 703
EZET2T 393 1,038 523 515
EREIST 505 1,330 646 684
EZETAT 688 1,491 666 825
EIZEIST 533 1,074 557 517
B 2,704 6,300 3,056 3,244
MEH 2,858 6,322 2,999 3,323
J\THET1T 33 34 14 20
J\THET2T 27 60 30 30
J\THEI3T 52 116 50 66
B 112 210 94 116
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